Math 1021 Review for Test 2 — Answer Key
1) x=9 2) Nosolution 3)x=4,x=5 4)x=-105)x=-2

6) a. f(1) =2, f(2) =+—1 Does not exist as a real number

1

b.g(4) =3 ,9(1) =1

2

7) a. (—oo,g] b.(0, )
8 a.5t] b.lx+1lc—:  d-5
e. Does not exist as a real number f.—53/5
9) a.2xzy?/3xy b. %% c. %xz

V5
10) a.—x b. Vx C. v+ d. -1
X x—1
1

11) a. (x + 1)z b. (x — 1)z (x — 2)2 . (x)¢

2 2
12) a. 9x? b, 2 c.IL/2 or rationalized ——
y X
4
as 3
d.—— e. Vix
32 b3
13) a. 11a° b. (1 — 2b)V6b c. 9—x

f. 2y3V9x2

d.4a —12Vab+9b e. 83/y2 — 4y

g. (10y +7)3/2y h. Vx —1



